Analyse of ALB001022061304
MODBUS data

Jan Zdenék 25.7.2023



ALB001022061304 — 1305s impulse on Phasel — start and end

Date: 24.7.2023

Mame y dy
. GRID_Active_power Phase L1 [W]

¥ W GRID_Active_power_Phase_L2 [W] -255 52
¥ B GRID_Active_power_Phase_L3 [W] -180 30
V W GRID_Total_Active_power [W] -364 89
W B GRID_Current_Phase_L1 [A] 1.6 1.2
W B GRID_Current_Phase_L2 [A] -1.3 0.2
W W GRID_Current_Phase_L3 [A] -1.5 0.1
¥ M INV_Power_Phase_L1 [W] 269 52
V B INV_Power_Phase_L2 [w] 272 53
W B INV_Power_Phase L3 [W] 269 53
[~ W WR_55R_0_Voltage [V]
e _Voltage [V]
rm Voltage [V]
' m 3_Voltage [V]
 m w _Voltage
T M WR_SSR_5_Voltage [V]
W W BAT_Power [W] 0 (]
W B BAT_SOC [%] 100 0

Battery SOC 100%

Inverter works symmetricaly

Why is consumption from grid on
inverter after impulse ???
Battery is on 100% SOC

1305s 1,7kW
impulse on Phasel

t0=39221.475607313s
t1=40526.549053938s
dt=1305.073446625s
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ALB001022061304 — 1305s impulse on Phasel - on impulse Date: 24.7.2023

Mame
I.. S — W
GRID_Active_power_Phase_L2 [W] -256 \ ]

IV M GRID_Active_power_Phase_L3 [W] -180
v B GRID Total Active_power [W] -363 1850
~ GRID_Current_Phase_L1 [A] 1.6 6.5
[+ M GRID_Current_Phase_LZ [A] -1.3 0.2 ‘
[ B GRID Current_Phase_L3 [A] -1.5 0.4 10003
v B INV_Power_Phase_L1 [W] 265 -59 ‘ ]
[+ M INV_Power Phase_L2 [W] 272 64 0+ i
[ B INV_Power_Phase L3 [W] 268 -55 b
[~ W WR_SSR_0_Voltage [V] 20007
[ W WR_55R_1_Voltage [V] E
[ B WR_SSR_2_Voltage [V] 0]
[ W WR_SSR._3_Voltage [V]
[ W WR SSR_4 Voltage
[T W WR_SSR_5_Voltage [V]
v W BAT_Power [W] 0 0 c
W I BAT_SOC [%%] 100 o
Battery SOC 100% )
5
Grid consumption after 1222s o —
constant 1,7kw impulse 00

Why? Battery is on 100% SOC | 2 —
wﬁ \,\‘-_"M—_.__u—u—-—v

’”””""’""””{> 200
Inverter works symmetricaly —— i _/f
Why? 200 W \\\\Wwﬁ. N
s

900 0 100 200 300 400 300 &00 700 800 Q00 0 100 200 300 400 500 200

t0=39217.873944433s 18000 5 39000 = 40000 =

t1=40439.901335063s
dt=1222.021354625s




ALB001022061304 — 43s impulse on Phase2 — start and end Date: 24.7.2023

Lo ] BE[VA & & R W@ 1 B e b Y Ak < > 9 .
Name y dy IDDD—:
¥ M GRID_Active_power_Phase_L1 [W] -380 -1
Iv GRID_Active_power_Phase_L2 [W] -575 -2 =
¥ M GRID_Active_power_Phase_L3 [W] -563 -2 T
¥ M GRID_Total_Active_power [W] -1520 -5
Iv GRID_Current_Phase_L1 [A] -1.9 [u}
¥ M GRID_Current_Phase_L2 [A] -2.5 [u}
¥ M GRID_Current_Phase_L3 [A] / -2.5 [u} ]
¥ B INV_Power_Phase_L1 [W] 586 i 0
¥ M INV_Power_Phase_L2 [W] 596 -5 1 —
¥ B INV_Power_Phase_L3 [W] 552 5 ]
T W WR_S5R_0_Valtage [V] f o [——
[ W WR_S5R_1_Voltage [V] /" ] I
™ W WR_S5R_2_Voltage [V] /
[ W WR_S5R_3_Voltage [V] /
[ W WR_55R_4 Voltage /
7 W WR_SSR_5_Voltage [V] /
v B BAT_| r [W] 0 0 ]
S0C [%] ]
\E2(R 5a soc 4 R |
/ / Battery SOC 100% o
0
Feed-in 1520W 500
1000
Inverter works symmetncaly
1000
1000

43s 1kW impulse
on Phasel

L L L L L L BB U
0=23717.560884938s 23003 ISD 620 &30 640 &50 860 670 630 690 700 710 720 730 740 750 780 77
t1=23761.053118688s
dt=43.49223375s Varker Ba




ALB001022061304 — 43s impulse on Phase2 — on impulse Date: 24.7.2023

Mame 1000
[+ M GRID_Active_power_Phase_L1 [W] ]
v GRID_Active_power_Phase_L2 [W] L
[+ M GRID_Active_power_Phase_L3 [W] T
[+ M GRID_Total_Active_power [W]
[ GRID_Current_Phase_L1 [A]
[¥ M GRID_Current_Phase_L2 [A]
[+ M GRID_Current Phase L3 [A] b
[+ B INV_Power_Phase_L1 [W] 0
¥ B INV_Power_Phase_L2 [W] j
[ W INV_Power_Phase_L3 [W] I
[ W WR_S5R_0_Voltage [V] ) i
[~ W WR_SSR_1_Voltage [V] \\ '“_._______._._._.,_/\n—/\_ﬂ\f—f_— \ll
™ W WR_SSR_Z_Voltage [V] \ T
[ W WR_SSR_3 \
m
I~ | ow
W
| |zd |m | BaT_soc [%] 500
Feed-in 948W ' 0
*Grid consumption 1038W 500
. 1000
Inverter works symmetricaly

*In the Czech Republic it means
1038W from Grid. Not 89W (GRID 1000

Total power)

610 620 630 &40 650 &80 670 &BO &S9O TFOO TIO 720 F30 P40 FS0 70 FAD FED 70

Time 23000 s

t=23737.273954063s




Conclusion

* The inverter operates largely in symmetrical mode after Battery SOC
100%. It seems to be a bug in firmware.

* It doesn’t use discharging of battery in some cases.

* Displayed data in the Alpha ESS application is not valid for users in the
Czech Republic
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